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Unit 3 Inverse and
Equivalent
Functions Review

Page 132 #s 1, 3 - 5, 6aceg, 7ace, 9ac, 10ace, 11,
12bd, 13bd, 14bd, 15df & 16 and Handout 3.80 # 14

Review
- Inverse Functions
- Adding and Subtracting Polynomials
- Multiplying Polynomials
- Equivalent Expressions
- Reciprocal of a Linear Function
- Simplifying Rational Expressions
- Multiplying Rational Expressions
- Dividing Rational Expressions
- Adding and Subtracting Rational Expressions
- Solving Rational Expressions
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6. Determine the inverse of each linear function by interchanging the variables.
» _ . L _x—3
b) flx) =2 — x d flx) = ——x—2 f) flx) ==

1
5, 4 ,3
:9::’2_—->C 9=,,_S__x,_2 j; X -
— - _ / - _ =3
X2 x=g9t == 902
x -2~ /

Solutions
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Simplify.
a) (7x*—2x+ 1) + (9x* — 4x +5) —
(4x* + 6x — 7)

:?_x?_ﬂzx._‘_' -+ %Cl.—({-.z + S - L‘—X?—"

I

|

122>—12x + I3

b) (74° —4alr+9b}—
(—a® + 2ab + 6b%)

— 2a 2_ qlqb-{-olb + A

—

_ Bat- bab t 36"

2_2ab— ébz

Ex + 7

3. Ms. Flanagan has three daughters: Asuid, Beatrice, All ages are expressed in years, and » represents
and Cassandra. Today, January 1, their ages are

: . Ms. Flanagan’s age.
respectively, a) Are the daughters tiiplets? Explain.
A(n) = —(n +30) + (2n + 3) b) Are any of them twins? Explain.
B(n) = (7 —») — (32 — 2n) ¢) How old was Ms. Flanagan when Cassandra
Cn)=(n26)  (n+4)+ (n 3) was born?

A(r\) = ”(n+'$c>) +(2n+-5’) A) No. Nok

=n-2> aﬁdbabl
por)-(22) B

Berdri® 7
_ /\"25 SarR oo
cr) = (r- -2)=(0+9 (" D (V=2
L pn-¥tn -33;
A n=’

- -N- 30+2f\+s M#‘ESM\Q

_32 4N ﬂSrfﬂC{ re dfe
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4. Expand and simplify.
a) —3(7x—5)(4x—7)
b —(F -4 +7)(3 - 3)

ax) —S(i}x— S‘)(tr—.x - 9’)
= - 5(281.2'— 4Ax 20X +35)
~ 3(28:8‘_ £ax 4‘35')

_ 8‘{_xz. ‘I_Zo?-x_ - IOS

—

= 2 5,3
R
= (_9&4—@*:})( 7
391 —5-3 -3;___ - -—-39%4 |?‘_‘93
_DZ _39'4- _—52: 39 ”38_‘914'239
Uy | 1297 |29 |71 +2!
_____3_:-—’:’-2];?\ 359 2

4. Expand and simplify.
o 2(a+t by

4 3(e* = 2)%2x - 3)° . N
2 QR + b)(d\ +b)<0\ + l—") . Séc - ZX—t - ?.XZ.:?: 3)
= (2a\+25>(o«7‘+ oﬂv'f‘*&’*l") (a"—)

- (ot T

2b o % (- O 1D
202b —(3;'. <q_)¢"-l2x+°‘
aa_ - 1‘+’Z)

BL = ('3,KLF-(:{-’2;;’- ”2)&""5\)

lZBB ) S)Cq- —{?)Cz- ,Z
_ Jad+ Galh + bob Gt 120l |-Bxt [4ec”
r 2 12t |36 x|l

9 \—Zﬂ;)-c—(; ~fo8x {108

= J2x® - 3657 215V ltx 3 Cox™ -1 +108
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5. The volume of a cone is given by V' = —;Fr:b.
Determine the volume of the cone in simplified form
if the radius is increased by x and the height is

increased by 2. | ) — +Xx
V= 3T A h > htix

V= 5T(+J (29

1 FX ) C+X /’\*Z’C)
V_:"’ﬂ_(r Xr )( 7.)(}-\4'2%)

6. Simplify.
a) (2x*'—3x? — 6) + (6x* — x* + 4x* + 5) o —Tx(x*+x—1) = 3x(2x* — 5x + 6)

._-qu-‘_ gi-,g,t é;xq- —_xg't (l-_tl‘i"s-

= &t 4t - .
3 :rx?—+$x—€=>c3+‘§i“ | 8¢
2 -

— —
—

— 13>+ B = — M1




3.90 Review.notebook

May 19, 2021

6. Simplify.
e) —2x[5x— (2x —7)] + 6x[3x — (1 + 2x)]
= ‘ZXCS.X"ZX +?-:( + éx['i.x-l "2)(]
2
=~ Jood 4 U x4 |8t — b — 12
— - 20X
6. Simplify.
g (x*+ 5¢x—3)°
xl Sx -3
[4 2
x')_ x‘f- Sx” |-
— T
S |5 | 25x” |15
NE A
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7. Factor.
a) 12m2n’ + 18m3n? e) 9x2—6x+1

= (3 - 1)(3x-1)

= ng_ DZ

]
31*"
2 n

N

p
+

w
S

c) 3x2+ 24x + 45

= 3()52*814—5)
= 3(%"-9(1*5-)

9. Simplify. State any restrictions on the variables.
10226 + 15bc? o Xy Xy
—5b xy

L=+=O -I#O/@qéo

X9 _ xX9°
x9 X9

a)

)

A
= '—20\?— "3C

\)
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10. Simplify. State any restrictions on the variables

6’
a) ijz + 12x7 y——
Lxy

> FO, nwFO

RBxy” -I-'b’—D—gx

9
2 2 2 3):_1
‘-—‘-é’fi-»r’,%l"’g’
9

2 Z

9

10. Simplify. State any restrictions on the variables.

m—+ 3
c)

m* + 10m + 21
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10. Simplify. State any restrictions on the variables.
3x% — 21x
7x* — 28x + 21

= gx(-x - ?'>
:}-sz'-— e "|'2)

3;(1—9) x *+ 3,1
S
Gart S0

e)

—

Glfy 'F wrdhe

11. If two rational funcrions have the same restrictions,
are they equivalent? Explain and illustrate with
an example.

No.
<x+l)(_>:+3> ord

(x'f")
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12. Simplify. State any restrictions on the variables.
10m? Gmn i_—?’_ﬁ'
b) 3n . 20m? 9 8pq 12
n:’;o/m#"o P#O/ﬁ/;—":@
G N _ S 12
= lom® x bt = 5p  cY
30 Zoen T A
3
_ Lom™n = EOPY

13. Simplify. State any restrictions on the variables. +
: —5*6xx—4—5 —s < T il —2 S

= (x _2) -3) (x SXxH (x +2)(x +1)
(e D(< ‘) (;c+2)(x—‘?-3 j)
- D), eI TRl
éeﬁ(;g s o

(c -t )

x—-l

10
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13. Simplify. State any restrictions on the variables

14. Simplify. State any restrictions on the variables.
b)xil_xil .:'Q?éi—{
=) 2 (x+10)
R Sl B Gl
B (x+f)(1"‘> (- 'Xx+|>
2
_ 5x-5 2=t
o) (=96
S_F-— 5 - 2} -2_ S
_ 5x-57¢ —
(x+ (x1)

11
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14. Simplify. State any restrictions on

the variables.
1 1
d) —

5t 6 X9 > F2,13
— ’ !
— (oo 2 ) - (=4 3)E&-3)
1(>x-2)

l (_Z—l-3>

x -

:(1—2)( _2YxA+3) B Z}_EX)C”SXJC’?-)

= x43

) e

5

o x#3-X fE
(e~ Y 3)63)

= ey

15. Simplify and state any restrictions on the variable

2(x — 2)? ><3.\*—15 x#"'s’,"lfz

P ex+5 (2— %)
| 2l | TS

s D W S

4

x,{—-|

d)

}

12
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15. Simplify and state any restrictions on the variables. f 20 — 5 N 36 o
JD#'S 3 & b*—2—15 b+ 46— 30
b+ 8!} + 12

mw()

geFoRe Addics (BedMAS)

Mulfiely &
2-19 _s 3b<b'f’2-)
REDCR (b (b= 5Xe+*)

(b 5)[194-3) (b SYb”LB)

(_L,+ 2)(b+6)

}94-'5

16. Fred’s final m k online coursc was
dererminey d Iy l:-) wo 5. The mid-te

m was out L)f; arks | rth 25% ¢ Fl

final mark. The fin l Xam was ou I x marks

and was worth 75% of his final n k F ed scared

40 marks on the firs and 60 arks l
d exam. Determine h 1 f if F ed
ned a final mark of 50% 1 € COUTsC.

O. ?_S .i‘:l) + qu(—-*) .50

_ o . 45 - oS
-ox 2=
_ 29 4,___(’:_5_ = OS5
T 2=
f— _é__.__s— 20-5

2 )

— 2
gs = 0-5C
L5 =

13
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14. a rivefrasﬂu;x:‘s‘1 a: 2} kn:/h, and John takes 6 h to row 16 km up the river and back.
Distonce S?ee& [ine
x+2 | =
-2 16
Bock- . . == Dist
Speck = DET > Trow = et
T + Toack = & Aounrs
iz T X )
6(x+%) - ¢
62
(xﬂ)()c—?) G-+
1o =32 bx+32 =
ZoayeD | ETD
32x - &
Gert)ee2)
2
3k = é("-*ZYX ) x-_’SliJléoo
321 = é(x ’L"> 2
= 6)(1’2(“' =R _
32;: 6x2,_32x—'2.‘+ - (T' - 6
_ -8 _.2
Use quadndc 000228 =3
= AT LD L e
— ﬂowwq ot a SPQ%Q
of Gkmih
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